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1. Iim(l—x—i--f-x)- (a) 0 (b) 1 (c) += (d) do not exist

1—=0*

2. Find % given that x and y are related by the equation

28

x’y’ +6x* = y+12 andthat y=2 when x=1.(a) -——(b) - ()—()
11
28
4-4cosx-2sin’x 1
3. lim = =(a)0(b) 1 () = (d)"z‘

4. f;%;,(l— 2x2)(1 —xz)-idx = (a)0()1{c) _;_(d) ____;_

5. If y>0,then | = Sin yx

6. f\/az - xidx =

Pl -@r OO L@ 3

2
\
(@) l a’-x +a—sm1(f-
2 2 a

2
®) 5 a’-x +%sml(x
2

(c) n\/a —xt+dcost 2
2 2 a

(d) £'Ja2-x2+%cos"l(£)
a

2

7. If N is positive integer then I, “ex'dx = (3) & (nEN) (b) nle" (nEN)

() n! (hEN) d) n (n&N)

1
2(In 2)?

8. Evaluate flmxdx-(a) mz(b)%mz © }2-(1,:2)2 @)

;i1 1 1
9. Find Z( )22"(2n+1) == (a) © (b) ) (c) 3 (@ ">

(3 & 43 47 %6 B 3k Sl Sk 1)




10.If y >0, then j:e"" (a) (b)—-—() > J_ (d) \/—

= FEBIBE s0H
1. (10%) Evaluate the following functions:

(5%) (@)% f'( y'x' +6)dy =

2 -4

(5%} (b) limg
2. (10%) Show that

f €%x" cos axdx m (~1)" =2 a»0 and n=01,...

ds.s'+2

3. (10%) Evaluate

W@ [,

G%)b) j:e" cosh xdx =

4. (10%) Evaluate

f(x+y)d(x,y), where S-{(x,y)[—ls xsl,{)sysl+|x'}
s

X -axis.

w290, 326 BYXADAPATNEERR LI 4 &R *2E ®wZHE|
RFFER BHBRZE MELRH -
EERE . MHRs ‘ HBEA : 0308 + Fix : 2
X BEMER SRE 07 Vrw gms s

Az

3. (10%) Find the volume of the solid of revolution obtained by revolving the region

bounded by the curved Yy=¢" and ymyx +-;— from x=0 to x=1 about the




